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Edge Disjoint Path Problem
EDPP

Edge Disjoint Path Problem 2 NP-Complete

Find a set of pairwise edge-disjoint paths connecting every pair
(si , ti ), i = 1 . . . k
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Another Variant

Summary

Table: Ordered WRP

General k 2 O(1) Tree ce 2 O(1)
Feasibility open P

P Ring2 P
Optimality NP-Hard open

Table: Unordered WRP

General k 2 O( log n
log log n )

Feasibility P
Optimality NPH,APX,FPT P
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Another Variant

Open Questions

Other special graph classes, e.g.: bidirected planar graphs

Feasibility hardness for the ordered variant (we gave the
optimality hardness)
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